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Dynamics of China’s Phillips Curve and Trajectory of Inflation Rate
Expectations - Evidences from State Space Model with Regimes Switching

YUN Hang, ZHANG Wen-gang

(Jilin University Quantitative Research Center of Economics, Jilin 130021, China)

Abstract: There are the similar patterns in the volatilities of growth and inflation of China’s economy since
1990’s. This paper is based on the Phillips curve and Okun’s Law. By using the state space model with regime
switching, we positively test the relationship between growth and inflation. We firstly estimate the inflation
expectations and potential output, and then we describe the dynamics of Phillips curve based on the inflation
expectation error and output gap. We find that there is the long run Phillips curve in the relations of output and
price, and there are the regimes of high volatility and low volatility. There are also two kinds of adaptive
expectations in inflation expectation.

key words: Phillips curve; inflation expectation; output gap; State Space Model.
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